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Third Semester B.E. Degreec Examination, Julv/August 2022

Discrete Mathematical Structures
Time: 3 hrs. Max,

I18CS3

Note: Answer any FIVE full questions, choosing ONE full guestion from eaclt s

Module-1
1 a  Define Tauwology. Prove that for any propositions p. . v the ¢
ip—=2ig—=r)l=2lip—=q)—=(p —=rlk 15 a tauvlogy.

b. Test the validity ol the arguments using rules of inference.

i [.‘r:'.u::ll wn

i Marks)

(=pvq)—=r
r—>awvl
— =]
=it —» =i
S (e Mlarks)
¢ Cove an mdirect proof and proot by contradiction tor even integer. then m = 7 s

add ™ T Marks)

OR
2 a. Prove the following logical equivalences us
[—qj Al—q r]]}v [(q Arlvipa r]]e::} T
Consider the lollowing open statements w
pix):x20. g(x): w20, rx)x’

{0 Marks)
Uall real numbers as the universe:

s{x):x" =3>0. Deternune the tr “the tollowing statements

(1) 3L pix) A gix)
(1) VXK. pIX)— q(x)
(1) V. qIX) = sx

(1v)
v

(vi) (06 Viarks)

- Any revealmg of ientilication. appeal to evaluator and ‘or equations written eg. 4218 30, will be weated as malpractice
&

i s e (0% VEarks)
Module-2
3 a _Prove by mathematical induction 4n < (n° = 7) for all POSHIVe Itegers n =6 (06 Marks)

Important Note . 1. O complenng vour answers, compulsorily draw diagonal eross lnes on the remaining blank pages

certaig question paper contains two parts A and B cach containing 4 guestions. How muany
r&uuys a studem can answer S questions by selecting atleast 2 guestions from cach
16 Mk

ere
nine the coetlicient ol

Xyz" in 2x-y—2z)" (1) X"y in the expansion of (2x —3v) °, (0% Marks)
I o3
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OR
nin+1(2n+7) :
s ;
b, Find the number of permutations of the leiters of the word MASSASAUGA. In h
ot these all four A%s are together? How many of them begin wih §7
<. In how oy ways can we distribute cight identical white balls imo four dis
so that.

(1 no cortamer s ledt empiy”?

(1) the tourth comtamer has an odd number o) balls i u?

4 . Prove by mathematical induction, | 3+ 2435+ . =n(n+2)=

larks)

Module-3
a  State prgeonhole prmaiple. ABC s an cquilateral wriangle whos
cach, I we select 3 points mside the wangle. prove that atleast

T

of length | em
points arc such

. |
that the distance between them s less than —em. (08 Marks)

cline a refation R on

|
i5
s
S
=%

b. IMA=A WA, wA where A, =12 As

A b sy s and voare inthe same subscr A, lor 151 ivalence relation,

{6 Marks)
' (2ol Hx)=9x" =9x ~3
(06 Marks)

—_—

vodlet tLe:R =R where liny = an-b and
determine a. b,

OR

6 o« Provethit i r-A—=DB. g B—C are | ns. then gol ;A =>C in mvertible

and (2o} =1 og” . (06 VLarks)
h. For A =la boe.d. el the Hasse diagra sel (AL R) is shown in Fig. Q6 (b,
{11 Determme the relation i

LI Construct the direct associated with R (6 Marks)

MR s an equing mon aset A and aLv e A then prove

vl [_\}= [}] and
=g then [x] =|v]. (8 Marks)

Module-4

T umber of permutatens ol . boc L. N. V. Z2 mowhich none ol the patterns spin.
Al G Tl OCCUrs (08 Marks)
b Por the positive mtegers 1 20 3 o there are 11660 derangements where [ 2, 3, 4 and 3
appear i the lirst five positions. What 1s the value ol'n? 16 Narks)

Solf@the recurrencee relation a, ~a,  =6a_ . =0 where nz2 and a, =-1. a, =8,
(i Marky)

2003
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OR
8 a.  Determine the number of integers between | and 300 (inclusive) whach are. 11 divis
exactly two of 3. 6.8 _ (1) divisible by atlcast two of 5. 6. 8 (1

b.  Describe the expansion tormula for Rook pelvnomials. Find the Rook polviomial
bhoard using expansion formula.

¢ The number of bacteria in a culture is 1000 (approximately) and this numbey n
Svery two hours, Use a recurrence relation o deternune the number ol buclori
one day

Module-5
9 o Detine with examples. (1) Subgraph, (1) Spammng subziaph (i
tiv ) Indueed subgraph (v Complement oF a graph  (viy path.
b, Merge sorl the list,
=1, Ed VLS =R % =3, =2 6.10.3
¢ Define somorphism ol two graphs. Determine whether the
somorphic or ool

M :_..ﬁ"'il

ITCRNY FIRS SN

i Vlarks)
aphs Gl G e

4
":::1‘ f--- 5
N.\‘ -:?‘;.
%
(v ~ |
s #,..-"'. y
L] ""l'. L ___,-F'- b
3
Fig OWrey- i
(s Varksg
10 a letG=(V. k) bethe undirg 12 Q10 tak How many paths are there m Gt
a4 to h? How many of these @i e g : TR TR

i

L2
=
I
1

i
P '
i e I
g "
o i

Fia, Q10 (a)

"5 A % LA i T o= Eran] it Mark <y
aptimal prefix code for the svmbols a o0 g0 w2 that occor wth Bequencies

.

7 orespectiveh (N Nlarkog

b Prove th
¢, Construct
2} -

W@ ok
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Third Semester B.E. Degree Examination, Jan./Feb. 2021
Discrete Mathematical Structures

Time: 3 hrs. s: 100
Note: Answer any FIVE full questions, choosing ONE full guestion from each module.
Module-1
g 1 a. Verifythat, for any three propositions p, q, r the compound prg .
E_ [p—=(q—=r]-[p—qg — (p->r)isa tautology or not. (06 Marks)
b. Test for validity of following argument.

E If Ravi goes out with friends, he will not study

= If Ravi do not study, his father becomes angry

: His father is not angry

£ - — — (07 Marks)
g 2 . Ravi has not gone out with friends
£ c. Give direct and indirect proof of following state “Product of two odd integers is an odd
E - integer”, (07 Marks)
'EP 1 OR
E A 2 a.  For any three propositions p, g, r, prove Anfviigarivipar)]er
E :':-} {0 Marks)
E P b. Check for validity of following argung
“ E If a triangle has two equal sides t ' sceles. 1M a triangle is i1soceles than it has two
2 equal angles.
= § A certain triangle ABC does not (07 Marks)
2 i =— rks
g % .. The trniangle ABC does n ;
g & €. Consider the following o on sct of all real numbers as universe:
gﬁ p(x):x20 g(x):x =0 X):J-3x—-4=0 s(x}:x-3>0
g § Then find truth valu 1 qix) i) 7x, p(x) = q(x} 1) ¥x, g{x) — s(x)
§% iv) W, 1(x) v s(x) (07 Marks)
£ Module-2
L= 3 a e that
2B 2_ |
g: I .+ (2n=1) =En[2|1-l]{2|1+ll (06 Marks)
§‘§ ; y Y
gE b. in the expansion of [33' - _,.]
5 3 X .
i i) x'" y* in the expansion of (2x” — 3xy* + 2°)" (07 Marks)
-g g c: Rs.1500 is to be distributed to three students A, B, C. In how many ways
e3 be done in the multiples of Rs. 10011
gk tudents sets at least Rs.300
=8 A must get at least Rs.500, B and C must sct at least Rs.400 cach, (07 Marks)
el OR
;ﬁ 4 Y@thematical induction prove that for any positive integer n the number 11" * + 122" s
2 divisible by 133 . {06 Marks)
a A éﬂw many positive integers n can be formed from the digits 3. 4. 4.5, 5, 6, 7 il we want n to
E- xceed 5,000,000. (07 Marks)

A certain question paper has 3 parts A, B, C with four questions in Part A. Five in B and Six

in C. It 1s required to answer seven questions by selecting at least two from each part. In how

many different ways student can answer seven questions, (07 Marks)
I ol2
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f=1(1.7) (2. 7). (3. 8) (4, 6) (5, 9) (6, 9)}. Then find £'(6), ' (9). If B
B, = {8, 9, 10) find £'(By), f'(B-).
b. Let A= {l,2,3,4} and R be a relation on A defined by xRy if and only if
i) Write R as ordered pairs i) Draw diagram iii} Write matrix of
If £, g, h are functions from R to R defined by x) = 7, g(x) = x +
Then verify that fo{goh) = (fog) oh

e}

OR
6 a If 30 dictionaries in a library contain total 61,327 pages then

t al‘.ast one of the

dictionaries must have at least 2045 pages. (06 Marks)
b. For any three nonempty sets A, B, C prove that

i} (AuB)xC=AxC)u(BxC(C)

n AX(BmnO)=(AxB)n(A=xC) (07 Marks)
C. LetA=11,2 3,4, 6, 8 12} define a partial order R by if and only if x divides y.

Draw Hasse diagram of R. (07 Marks)

Module-4

7 a  Forthe integers 1, 2, _.n, there are 11660 d s where 1, 2, 3, 4, 5 appear in first

five positions then find value of n. (06 Marks)
bh. Determine number of integers between ich are 1) divisible by exactly two of
5.6, 8 ii)at least two of 5, 6, 8. (07 Marks)
c. Solve @, = 2(a,.1 ~ dn2) 101 0 2 2 iV (07 Marks)

8 a  Ouof 30 students of a hostel 15 8

study all the three subjects S| dre study none of the subjects. (06 Marks)
b.  An apple. a banana, a man Mee to be distributed to 4 boys B, Bz, B; and B,
The bovs By and B: do not@#1 1 does not want banana or mango B, refuses orange.
In how many ways distribu rade so that all of them are happy. (07 Marks)
¢. Solvea, -3a,1 =5 N dp = 2. (07 Marks)
le-
9 a. Show that folloygn i Fig.Q.9(a)(i) and Fig.Q 9(a)(u1) are isomorphic

pal

Fig Q 9(a)(i Fig.Q.9(a)(ii)
(06 Marks)
h. xample to each 1) Complement of a graph i) Vertex degree
iv) Prefix code (07 Marks)
rt to the list
. 5,-8,15,-3,-2,6,10,3 (07 Marks)
OR

10 hat a trec with n vertices has (n - 1) edges. (06 Marks)

b.  Determine number of vertices in following graph G:

Q’ G has 9 edges and all vertices have degree 3
1 G has 10 edges with 2 vertices of degree 4 and all other have degree 3 (07 Marks)
Obtain optimal prefix code for the message ROAD IS GOOD. (07 Marks)
ok kR
2002
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Third Semester B.E. Degree Examination, Jan./Feb. 2021
Discrete Mathematical Structures

Time: 3 hrs. Max. Marks: 100
Note: Answer any FIVE full guestions, choosing ONE full question from each module.
Module-1

s 1 a. Verify that, for any three propositions p, g, r the compound proposition.

¢ [p = (g—=>0] - [(p—q) — (p—1)] is a tautology or not. (06 Marks)

£ b. Test for validity of following argument.

£ 1f Ravi goes out with friends, he will not study

= If Ravi do not study, his father becomes angry

§ His _f'athcr is not angry e (07 Marks)
P . Ravi has not gone out with friends
g3 c. Give direct and indirect proof of following statement “Product of two odd integers is an odd
% integer”. (07 Marks)
By OR
%g 2 a. For any three propositions p, q,r, provethat [~pA(=gan]v(gar) v(pAar)] «(:.-{_}::s rM "
P S aArKs
E g b. Check for validity of following argument,
Bz If a triangle has two equal sides then it is isosceles. If a triangle is isoceles than it has two
g 5 equal angles.
£ E A certain triangle ABC does not have two equal angles P
:"é % - The triangle ABC does not have two usual sides
B S ¢. Consider the following open statement on set of all real numbers as universe:
,?g”.% p(x}:x=0 q(x):xzz{) r(x):x2—3x—4={] s(x):x3—3>()
":; g Then find truth value of 1) 3x p(x) A q(x) 1) ¥x, p{x) = q(x) i) Vx, q(x) = s(x)
w‘;i r iv) VX, r(x) v s(x) (07 Marks)
E o _— Module-2
'é -§ 3 a By mathematical induction prove that
%f 12+32+52+.......+(2n~l)2=—]2~n(2n-|)(2n+l) (06 Marks)
z % b. Find coefficient of i) x° in the expansion of [33{1 —;J
= =3
35 i) x'' y* in the expansion of (2x* - 3xy* + 29)° (07 Marks)
% E“ c. A total amount of Rs.1500 is to be distributed to three students A, B, C. [n how many ways
¥ distribution can be done in the multiples of Rs. 100 if
g = 1)  Every students sets at least Rs.300
85 i) A must get at least Rs.500, B and C must set at least Rs.400 each. (07 Marks)
=¥ OR
2 4 a. By mathematical induction prove that for any positive integer n the number 1 1™ + 12**! is
§ divisible by 133 (06 Marks)
g b. How many positive integers n can be formed from the digits 3,4, 4,5, 5, 6, 7 if we want n to
B exceed 5,000,000.

! ; (07 Marks)
¢. A certain question paper has 3 parts A, B, C with four questions in Part A, Five in B and Six

inC. It is ‘required to answer seven questions by selecting at least two from each part. In how
many different ways student can answer seven questions. (07 Marks)

1 of2
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Module-3
5 a lLetA={1,2,3,456},B=16,78, 9, 10} and fbe a function from A to B defined by
F={(1, D @2, 7), 3, 8 @4, 6) (5 9 (6, 9)}. Then find £'(6), £7(9). If B, = {7, 8},

B, = {8, 9, 10) find f'(B)), ' (B2). (06 Marks)

b. Let A= {1,2,3, 4} and R be a relation on A defined by xRy if and only if x divides y. Then

1) Write R as ordered pairs i) Draw diagram  iii) Write matrix of R. (07 Marks)

€. If f, g, h are functions from R to R defined by f{x) = X2, gx) = x + 5, h(x) =4x*+2.
Then verify that f o{goh) = (fog) oh (07 Marks)

OR

6 a. If 30 dictionaries in a library contain total 61,327 pages then prove that at least one of the
dictionaries must have at least 2045 pages. {06 Marks)

b. For any three nonempty sets A, B, C prove that
D (AuB)xC=AxC)uBx()

i) AXBNCO=AxBIn(Ax(C) (07 Marks)

C. LetA=1{1,2,3,4,6,8, 12} define a partial order R on A by xRy if and only if x divides y.
Draw Hasse diagram of R. (67 Marks)

Module-4

7 a. For the integers 1, 2, ...n, there are 11660 derangements where 1, 2, 3, 4, 5 appear in first
five positions then find value of n. (06 Marks)

b. Determine number of integers between 1 and 300 which are 1) divisible by exactly two of
5,6, 8 ii)at least two of 5, 6, 8. (07 Marks)

C. Solveay=2(an —an2) fornz=2 givenag=1,a, =2 (07 Marks)

OR

8 a. Outof 30 students of a hostel 15 study history, 8 study economics, 6 study geography and 3
study all the three subjects. Show that 7 or more study none of the subjects. (06 Marks)

b. An apple, a banana, 2 mango, and an orange to be distributed to 4 boys By, By, B; and By.
The boys B, and Ba do not wish apple, Bs does not want banana or mango B refuses orange.

In how many ways distribution can be made so that all of them are happy. (07 Marks)
c. Solvea,—3a,=5x3"forn>1 givenay= 2. (07 Marks)
Module-5

9 a. Show that following graphs in the Fig.Q.9(a)(i) and Fig.Q.9(a)(i1) are isomorphic

Fig.Q.9(a)(1) Fig.Q.9(a)(i1)
(06 Marks)
b. Define with an example to each i) Complement of a graph i) Vertex degree
iil) Rooted tree  iv) Prefix code (07 Marks)
¢.  Apply merge sort to the list
-1,7,4,11,5,-8,15,-3,-2, 6, 10,3 (07 Marks)
OR
10 a. Prove that a tree with n vertices has (n — 1) edges. {06 Marks)
b. Determine number of vertices in following graph G:
i) G has 9 edges and all vertices have degree 3
i) G has 10 edges with 2 vertices of degree 4 and all other have degree 3 (07 Marks)
¢. Obtain optimal prefix code for the message ROAD IS GOOD. (07 Marks)
% % % 3 ok
20f2
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< SO[u.h'OﬂS/ Answers
Module - 1.
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| !
Third Semester B.E. Degree Examination, Dec.2019/Jan.2020
Discrete Mathematical Structures
Time: 3 hrs. Max. Marks: 1

Note: Answer FIVE full questions, choosing ONE full question from eac

4

Module-1
1 a. Prove that, for any propositions p. g, r the compound proposition
[(p - q)alq —=r)—(p—>r)] is a tautology.
b. Test the validity of the following argument.
If I study, 1 will not fail in the examination.
If | do not watch TV in the evenings. | will study.

Marks)

¥
E
£
E
-\';'i
E
=
5 St S
52 | failed in the examination,
=
E : . I must have watched TV in the evenings {07 Marks)
".f'u? ¢ Letp(x): x"=7x+10=0, g(x) : x" -2x+3=0Q Find the truth or falsity of
o
25 the following statements. when the universe U con tegers 2 and 5,
2 s o
g & (i)  Ox.p(x)—=>~r(x) (i) ¥x,
£ E (1) 3x, q(x)—r(x) (iv) 3x (07 Marks)
€
iz O
= E 7
Té = 2 a. Prove that, for any three propositio
58 (pva)=r]eip>r)ala—r1) {06 Marks)
%.‘; b. Prove that, the following are valic
3 g () polg-or) Gi)
B3 ~q =~ p
bt
A T
E g i
= 'i (07 Marks)
35 ¢ Give:
()
23 (i1)
g2 iction for the following statement.
§ ,-. en n+9 is an cven integer”, (17 Marks)
o e
s Module-2
E"E 3 a P+ 3 ¥4 40" ={ln(n+l‘|{2n +1). (06 Marks)
g i i
E5 the cocfficient of,
-l vz~ in the expansion of (2x—y—27)".
;E (i) x’y'z inthe expansion of (3x -2y -4z) . (07 Marks)
g man has 11 close relatives and she wishes to invite 5 of them to dinner. In how many
5 ways can she invite them in the following situations:
£ (1) There is no restriction on the choice.

(i)  Two particular persons will not attend separately.
(iii)  Two particular persons will not attend together. {07 Marks)

l of 3
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18CS36
OR
4 a. Prove that every posilive integer n = 24 can be written as a sum of 5’s and / or 7's.
(06 Marks
b, Find the number of permutations of the letters of the word MASSASAUGA. In how man
of these all four A’s are together? How many of them begin with 87 (07

€. In how many ways can one distribute eight dentical balls into four distinet conta
that, (1) No containers s left empty.
{ii) The fourth container gets an oddanumber of balls.
Module-3
5 a. For any non empty sets A, B, C prove that,
(i) Ax(BuC)=(AxB)ulAxC)
i) (Ax(B=C))=(AxB)-(AxC)

Ix—=5 for x>0
b. Let F:R =R bedefined by rm}=lI ’

Marks)

—3x+1 forx<0’

(i) Determine f{0), t‘l;] (i) Find £ '([-5.3]). (07 Marks)

¢. Let £, g h be functions form 2z to z define fixy=x-1, gx)=3x,

- Verity that (feg)eh(x)=rfa(g= (07 Marks)

0 il x is even
hix)= ="
| af xis odd

OR
6 o Let A=11,2.3.4.6! and R be a relation on
b”. Represent the relation R as a matrix a
b.  Draw the Hasse diagram representimg the
Let A=11,234.5], define a relay
Rty =%y ks
i Verify that R 1s an eq

f and only 1f “a is a multiple of

(0 Marks)
{07 Marks)

(x%,.y, R(x,.y,) if and only if

(n)  Find the partitio (07 Marks)
7 a. There are eight letters t nt people to be placed in eight different addressed
envelopes. Find the . vy [ doing this so that at least one letter gets to the right
person. (06 Marks)
b. In how many ways ¢ o 26 letters of the English alphabet be permuted so that none of the
i BY TE occurs? (07 Marks)
c. , tla, obtain the rook polynonual for the board C. {07 Marks)

1

[2]3

4:5]6

7|8
OR

a banana. a mango and an orange are to be distributed to tour boys B, Bs, Bs, Ba.
i and B> do not wish to have apple. The boy B: does not want banana or mango,
and B T®uses orange. In how many ways the distribution can be made so that no boy is
displeased? (06 Marks)
Ifdl= 0. a, = 1, a> = 4 and a; = 37 satisfy the recurrence relation a,.; + bayy + ca, = 0, for
n =1 . lind the constants b and ¢, and solve the relation a,. (07 Marks)
Jow many integers between | and 300 (inclusive) are,

i1) Divisible by at least one of 5, 6, 87

(i) Divisible by none of 5, 6, 87 (07 Marks)
2o0f3
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Maodule-5
9 Show that the following two graphs shown in Fig. QY (a) - (1) and Fig. Q9 (a) — (i) are
isomorphic, {06 Marks)
Ly e L 3 j%.jgf_
@ gf@ | 7 I; v
> 1.',5 -:._L‘:\ﬁu‘_’
“o  Ug U g
Fig. Q9 (a) - (i) Fig. Q9 (a) - (i)
Define the following with example of cach.
(1) Simple graph (1) Sub graph

10

(i) Compliment of a graph  (iv) Spanning sub graph
Construct an optimal profix code for the symbols a. 0. q. u. y, z tha
20, 28. 4, 17, 12, 7 respectively.

OR
Prove that two simple graphs Gy and Go are isomorphic ifs
isomorphic.
Let G = (V. E) be a simple graph of order [V|=n and §

mplements are
06 Marks)

i is a bipartite graph.

Prove that 4m <n*. (07 Marks)
Construct an optimal prefix code for the letters of EERING. Hence deduce
the code for this word. (07 Marks)
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SEHEME

USN
Third Semester B.E. Degree Examination, Feb./Mar. 202
Discrete Mathematical Structures
Time: 3 hrs. Max. Mark
5 Note: Answer any FIVE full questions, choosing ONE full question fr, mrm.
B
g Module-1
E 1 a. Prove that for any propositions p. ¢, r the compound propositio
4 [(p = @) A (q— r)] = (p — r)is a Tautology. (08 Marks)
g b. Prove the logical equivalence without using truth table:
= p—=g—o2=@{pPpaqQ—r (05 Marks)
E ¢. Find whether the following argument is valid. No en ing student of first or second
= semester studies logic.
=1

Anil is an Engineering student who studies logic

=5

2. Anil 1s not in second semester (07 Marks)

eg, 42+8

s ]
da

There are no restrictions,
E child gets atleast one pencil.

%

4

=5

=

‘s

o

=

o g OR

= E 2  a. Give a direct proof and an indirect proof en statement. “If *n” 18 an odd integer.
s g then n + 9 1s an even inleger’. (06 Marks)
8 & b. Prove the given logical equivalence proble s of logie,

z 8 P=PAl~gAalv-g) = (g (07 Marks)
B S ¢. Venfy the given argument 1s valid @ n

g 5

E 5 p—=q—r

EE pv o s

2.8

= E q

S & T=; (07 Marks)
=

.;-E E Module-2

E == 3 a. Prove that for each

5 & G SR AR Wn - 1)(2n+ 1) (07 Marks)
E‘E b. ation of the letter of the word *MASSASAUGA™. In how many
= ol there :ther? How many of them begin with “S$? (06 Marks)
= g ¢. Find ho y : r digit integers one can make from the digit 1. 3, 3.7. 7. 8.

i—-a (07 Marks)
= 2

8 5

EE . OR

5 g 4 a. co-cfficient of xyz~ in the expansion of (2x — v — z)". (06 Marks)
§5 b. vays can 10 identical pencils be distnbuted among 5 children in following
2

2"'

g

£

=,

E

The yvoungest child gets at least two pencils. (07 Marks)

1e number of arrangements of all the letters in “TALLAHASSEE”? How many of

¢se arrangement have no adjacent "A's? (07 Marks)
1 of2
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18CS36
Module-3
S a. Letf:R — R be defined by

£ 3x—-5 for x>0
X)=
-3x+1 for x<0

find £1(0). F'(1). £13). £1(:3). £1(-6). £([-5. 5]
b. On the set Z' a relation *R" is defined by aRb if and only if “a divides b (ex

that *R” is equivalence relation.
¢.  Draw the Hasse diagram representing the positive divisor of 36.

OR

6 a Let A= {1,2, 3,4, 5} define relation "R on AxA by (X,Y)) ik and only if
X1+Y =X24+Y>
1) Verify "R’ is a equivalence relation on AxA
i) Determine the partition of AxA induced by K. (07 Marks)
b. Let A= {I1,2, 3,4, 6} and "R" be a relation on ‘A" defind@ by aRBNf and only if “a is
multiple of b™ represent the relation ‘R” as a matrix. draw 8 di relation R.
(06 Marks)
¢. Let f. g, h be a function from R 1o R defined by f{ 2, g(x) = x — 2, h(x) = 3x for
¥ x € R find gof, fog. fof, gog, foh, fohog. (07 Marks)
Module-4
7 a. How many integers between | and 300 (inclusive
i) Divisible by atleast one of 5, 6, 8
i) Divisible by none of'5, 6, 8. (07 Marks)
b. Find the rook polynomial for the 3 x 3 bod the expansion formula. (07 Marks)
¢. Solve the recurrence relation
an—3a,; =5 x3"forn=1 given tl (06 Marks)

is 1000 (to start with) and this increases 250%
to determine the number of virus affected files in

8 a.  The number of virus affected
every two hours. Use a rect

the system alfter one day. (06 Marks)
b. Solve the recurrence rel

an= 2 (ap.| —an.2) for ap= 1 and a; = 2. (07 Marks)
¢. Compute derangemgnt (07 Marks)

Module-5

9 a the given two graphs are Isomorphic (Fig.Q.9(a)). (07 Marks)
4 {-Fé l\ “'T'*"-.:::.lr
Gy A | !
A LA s
Fig.().9(a)
b. <At " vertices has n — | edges™. Prove this. Define a tree. (06 Marks)
¢. _Construct an dptimal prefix code for the given set of frequencies, 20, 28.4, 17,12, 7.

(07 Marks)

’ OR

in complete graph, Bipartite graph. subgraph., regular graph, spanning subgraph,
ally connected graph. with example for each. (07 Marks)
ply merge sort to the given list -1.7.4,11,5,-8,15,-3,-2, 6, 10, 3. (06 Marks)
tain an optimal prefix code for the message “LETTER RECEIVED” indicate the code.

(07 Marks)

10

#oFoE kR

20of2
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USN | L 18C

Third Semester B.E. Degree Examination, Aug./Sept.2020
Discrete Mathematical Structures

Time: 3 hrs. M

Note: Answer any FIVE full questions, choosing ONE full question from e

Module-1
1 a Define proposition, tautology, contradiction. Determine whether tif§"To
statement 1s a tautology or not.

tlpvg)=r} e {-r>=(pva)
b. Using the laws of logic, show that
P=aalqalrv-q)]e—(qvp) K (07 Marks)
€. Establish the validity of the following argument :
vx, p(x) vgix)
va _IP{K._]
WX, —q(x) v r(x)
¥x. s(x) = —r(x)
ol E]x,l -5(x) (07 Marks)
2 a. Define Converse, Inverse and Cont 1t] 'a conditional. Find converse, inverse and
contrapositive of ¥Vx, (x> 3) > {xz (06 Marks)

b. Test the validity of the followin
(1)  Ifthere is a stoke by stu
not postponed

.. there was no s
() If Ram studies, t
he will study. Ram

DMS. If Ram doesn’t play cncket, then
d in DMS.

to evaluator and Jor cquations written eg, 42+8 = 50, will be treated as malpractice.

, compulsorily draw diagonal eross lines on the remaining blank pages.

.g - Ram P!&}' (06 Marks)
= c. Let p{x} x 20
o £ a(x) —3x—4 =10, then
g E for the u of all real numbers, find the truth value of
= % (1) Ix { (i1) ¥x {p(x) = q(x)} (1) Ix {d(x) A r(x)} (06 Marks)
g = d. Define tatement. Write the dual of the statement
- Py To) AW F)v(rasaT,) (02 Marks)
52
£ Module-2
é = Define well ordenng principle and prove the following by mathematical induction.
£,
N 520 on-1)= "':3“'1;(2“”}
E
2 3 + 294 +3%5+....... +n(n+2)= n{””)éz"”} (12 Marks)
-g ind lhf: cnefﬁcmms of
(1) X }r m the expansion of (2x - 3y}
(i) a’b’c’d” in the expansion of (a+2b—3c+2d+5)"° (08 Marks)
1of3
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18CS36
Module-5
9 a. Mergesortthelist—1,7,4,11,5,-8,15,-3,-2, 6, 10, 3. (06 Ma
b. Determine whether the following graphs are 1somorphic or not. [Refer Fig.Q9(b)]
é:' W g Y vy .
L~ v,
Vel ®- -8
Mg “ Uy, VL
Fig.Q9(b) 06 Marks)
¢. Define the following with an example to each :
(i) Simple graph (1) Complete graph (ii1) Tree (1 e graph
(v) Spanning subgraph (vi) Induced sub graph  (vii) Comp ipart1 h
(viil) Complement of graph. (08 Marks)

OR

10 a. LetG :(V, E) be a connected undirected graph, wh ossible value for [V] if

|E|=19 and deg(V) 2 4 forall v € V? (06 Marks)
b. Construct an optional prefix code for the letterg INEERING. Hence deduce
the code for this word. (08 Marks)

¢c. T:(V,E)isacomplete m-ary tree with | V |
prove the following results:
(1) n=mi+1
(i) £ =(m-1)n+1
(iii) i e O o)
m—1 m

¢
§>

L 4

f leaves and i internal vertices,

(06 Marks)

3of3
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GCEM CSE DMS (18CS36) Semester: 3
Important Questions for VTU Examination (Dec.-2019)
MODULE-1

() DEFINITIONS with example for each:

Proposition, Tautology, Contradiction, Open sentence, Disjunction (OR),
Conjunction (AND), Negation, Quantifier, compound statement, Converse, Inverse, and Contra
Positive. etc.,

(11 Problems on TAUTOLOGY, CONTRADICTION, CONTINGENCY::

Examples:
(1) Prove that, for any propositions p, g, r , the compound propositions, are tautologies.

N{p—=r@—=7r)}—={p—->7)}i){p—>(@—->1}->{p—-q9 - @P—-r)}

(2) Determine whether the following statement is tautology or not.
(p— (qVv 1) o (pPAq)—T)

(111 Problems on LOGICALLY EQUIVALENT STATEMENTS: (using truth tables)
Examples:
(1) By constructing the truth table, show that the compound propositions p A (=g V 1)
and p v ( A —-r) are not logically equivalent.
(2) Use truth tables to verify,
Dp=>@rAne@-A—1 (iDlpVve -1l 2lp =1 AQGon)]
(i) [(p = @) A (g NA(r < p)]l = [e— @.A(g — 1) A (r— D)]

(IV) Problems on LOGICALLY EQUIVALENT STATEMENT USING Laws of Logic:

Examples:
(1) Define logical equivalence of two propositions. Prove the following logical

equivalences without using the truth tables (using laws of logic):
DpvipApvgl =p i [(cpV-q)—=@AgAT) = Ag
(i) (p = @) A (=q A (r vV ~q)) & =[q Vv p]
(2) Show that [(p V @) A =(=p A (=q V =7))] V (=p A =q) V (=p A =) is tautology using
laws of logic.

(V) Problems on TRUTH TABLES AND INDEPENDENTS OF ITS COMPONENTS:
Examples:

(1)_Find the possible truth values of p, gand rif (i) p — (q v r) iISFALSE
(i) pA(q—r)is TRUE
(2) Show that (p A (p — q)) — q is independent of its components.

(3) Let p, g be primitive statements for which the implication p — q is false. Determine

the truth values for each of the following: (i) p A (ii)) . p V q (ii)g —>p
(4) Letp, q, r be propositions having truth values 0, 0 and 1 respectively. Find the truth
values of the following compound propositions: i) (p A q) —> r iN)p—(q A7)

ii)pA(r—q) iv) —(q— ).
(5) Show that the truth values of the following statements are independent of their
components: i) [p A(p — q)] — qii)(p —q) < [pVq]
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(V1) Problems on DUAL AND PRINCIPLE OF DUALITY:
Examples:
(1) Verify the principle of duality for the logical equivalence:
~pAq) >~pV(pPVg)=-pVa.
(2) Define dual of logical statement. Write the dual of the following logical statements:

)(VT)A(gvr)Vv(rAsATo) (ii)pAg)VTo (i) [+(p v q) A{p v ~(q A-s)}]

(VI Problems on DIRECT PROOF, PROOF BY CONTRADICTION, INDIRECT PROOF:

Examples:

(1) Give : (i) A direct proof (ii) An indirect proof and (iii) Proof by contradiction, for the
following statement: “If n is an even integer, then (n + 7) is an even integer”.

(2) Give a direct proof for each of the following. (i) For all integers k and [, if k, [ are both even,
then k + Liseven. (i) For all integers k and [, if k, L are even, then k. [ is even.

(3) Prove that for every integer n, n? is even if and only if n is even.

(4) Give a direct proof of the statement “the square of an odd integer is an odd integer”.
(5) Give i) direct proof ii) indirect proof iii) proof by contradiction for the following statement:
“1if n is an odd integer then n+9 is an even integer”.
(V1) Problems on QUANTIFIERS, TRUTH VALUES OF QUANTIFIED STATEMENTS:

(1) Determine the truth value of each of the following quantified statements for the set of all non-zero
integers: i) Jx; 3[xy = 1] (i) Vx, 3y[xy = 1] (iii) 3x, Iy[(2x + y =5) A (x — 3y = -8)]
iv) 3x, 3y, [Bx = =17) A (2x + 4y = 3)] (v) 3x, Yy [xy=1]

(2) Determine the truth value of each of the following quantified statements for the set of all non-zero
integers: i) 3x, Ay, [xy=2] (ii) Vx, Iy, [xy = 2] “iii) 3%, Vy, [xy =2]
(iv) 3x, 3y, [Bx+ =8)ARx—y=7)] (v)3x, Ay, [4x+2y =3)A(x—y=1)]
(3) Consider the following open statements with the set of all real numbers as the universe,
p(x): x>0, g(x) : x2 >0, q(x): x2 - 3x - 4 =0 and s(x): x2 - 3 > 0, then find the truth values
of (i) 3x, [(x) A r(x)] (i) Vx, [p(x) > qx)] (iii) Vx, [q(x) = s(x)]

(4) Let (x): x>0, q(x): x2 >0 and r(x): x2 — 3x — 4 = 0. Then for the universe comprising of all real
numbers, find the truth values of, (i) 3x, [(x) A g(x)] (i) Vx, [p(x) = q(x)]
(iii)) 3x, [p(x) Ar(x)] (V) Vx, [(x) — s(x)] (V) Vx, [r(x) — p(x)] (Vi) Vx, [r(x) V q(x)]

(IX) Problems on CONVERSE, INVERSE, CONTRA POSITIVE PROBLEMS:
Examples:

(1) Find converse and contra positive of the statement: p — (qAr).
(2) Consider the sentence ,” if 5x-1=9 then x=2"i.e., : p — . Find converse, inverse and contra
positive statement.

(X) Problems on VALIDITY OF THE ARGUMENT:

(1)_Prove that the following argument is valid.
vx, [p(x) — q(x)]
vx, [g(x) — r(x)]
= vx, [p(x) = r(x)]
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(2) Establish the validity of the following Argument
p—or
~p —q
q— S

S~ —S

NOTE: -For PASSING MARKS, prepare Q.No. (1), (111), (1V),
(V),(VIl) and (VII1).
For good marks, prepare (1) to (X) ,(all) .

MODULE-2

(1) Problems on MATHEMATICS INDUCTION:
Examples:

1) By the principle of .Mathematical Induction, prove that,

12422482+, ... 4nl= w

(2) | Define Principle of Mathematical ‘Induction. For the Fibonacci sequence
145\ (1—\/§)n]

2 2
3) By Mathematical Induction, Prove that, for any positive integer n,

the number A, = 5% + 2 x 31 4+ 1 s a multiple of 8.

Fy, F,, F,, F5, ....., Provethat, F, = \%[(

[OR] Prove by mathematical induction, for every integer 8 divides 5™ + 2 x anliq
(4) Prove the following: [or] Prove by using principle of mathematical induction

(I) Z?:li (Zi) =2+ (n _ 1)2n+1 (”) Z:lzli — n(n2+1)

(5) Prove that 4n < (n? — 7) for all positive integers n > 6.
(6) Prove by mathematical induction that, for every positive integer n, 5 divides (n®> —n). etc.,

(11) Problems on BINOMIAL THEOREM:

Examples: (1) Find the coefficient of x9y3 in the expansion of (2x-3y)12

(2) Find the coefficient of x'? inthe expansion of x3(1 — 2x)10  etc,

(11D Problems on MULTINOMIAL THEOREM:

Example: (1) Find the coefficient of a2p3c2d°  and  a3bctd? in  the expansion of
(a+2b—3c+2d +5)16

(2) Find the number of distinct terms in the expansion of (X1 +X, +X3 +Xa4 +x5)16
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(3) Find the coefficient of xyz2 in the expansion of (2x-y-z)4 €t

(1V) Problems on PERMUTATIONS, COMBINATIONS AND PRODUCT RULE:

Examples:

1) In the word ENGINEERING, (i) Find the number of arrangements of all the letters of the
word ENGINEERING? (ii) How many different strings of length 4 can be formed?

2) In the word SOCIOLOGICAL, (i) How many arrangements are there for all the letters?
(if) In how many of these arrangements all vowels are adjacent?

3) Find The number of nonnegative integer solutions of the equation X; +X; +X3 +X; +X5=8

4) A certain question paper contains two parts A and B each containing 4 questions. How many
different ways a student can answer 5 questions by selecting at least 2 questions from each
part?

5) A certain question paper contains three parts A,B,C with four questions in part A, five
questions in part B and six questions in part C. it is required to answer seven questions
selecting at least two questions from each part. In how many ways different ways can a
student select his seven questions for answering?

6) How many positive integers n can we form using the digits 3,4,4,5,5,6,7 if we want n to
exceed 5,000,000? etc.,

xxxxx END OF, 2" MODULE ****

NOTE:
For PASSING MARKS, prepare Q.No. (I), (1I) and (I11).
For good marks, prepare (I) to (1V) ,(all) .

MODULE-3
RELATIONS

() DEFINITIONS with example for each:

Relation, Types/properties of relations (reflexive, transitive, symmetric, anti-
symmetric, irrreflexive, asymmetric), partial order relation, equivalence relation, lattice, Hasse
diagram/poset diagram etc.,

(1IN Problems on types of relations/properties of relations:
Examples:

(1) Let A= {1,2,3,4}, R= {(1,3),(1,1),(3,1),(1,2),(3,3),(4,4)} be the relation on A. Determine
whether the relation R is reflexive, irreflexive, symmetric, antisymmetric or transitive.

(2) Let A= {1,2,3,4}, and let R be the relation defined by R = {(x,y)lx,y € 4, x < y}.
Determine whether R is reflexive, symmetric, antisymmetric or transitive.
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(111 Problems on EQUIVALENCE REALTION and PARTIAL ORDER RELATION :
Examples:
Type-1 problems:

(1) Define a relation R on AXA by (Xx1,y1)R(X2,y2) iff  Xi+y1=Xp.y2  where
A={1,2,3,4,5}. Verify that R is an equivalence relation.

(2) Define a relation R on the set A={1,23} is as follows.
R={(1,1)(2,3)(2,2)(3,3)(3,2}. Verify that R is an Equivalence relation and partial order
relation.

Type-2 problems:
Prove the following:
(i) on the set of all integers, the relation R defined by aRb ifandonly if a<b+1
is reflexive but not irreflexiv.
(if) On the set of all integers, the relation R defined by aRb if and only if |a-b|=2 is
irreflexive and symmetric.

(1V) Problems on HASEE DIAGRAM/POSET DIAGRAM, LUB ,GLB etc..:

Examples:

(1) Draw Hasse diagram representing the positive divisors of 36 (i.e., D3g).

(2) Let A={1,2,3,4,6,12}. On A define the relation R by aRb if and only if ‘a’ divides ‘b’.
Draw Hasse diagram and write down the matrix relation,

(3) Consider the Hasse diagram of a Poset (A, R) as shown in figure. " If B ={3,4,5}, find
(i) all upper bounds of B (ii) all lower bounds of B ( iii)the least upper bound of B (iv) the
greatest lower bound of B«(v) is this a Lattice (vi) maximal/greatest element.of hasse diagram ?

(4) Let A={1,2,3,6,9,8} and R on A by xRy if x/y (i.e., x divides y). Draw the Hasse
diagram for the post (A,R).

(V) MISCELLANEOUS PROBLEMS ON RELATIONS:
Examples:
(1) Matrix form/relation matrix of a given relation , Directed graph/digraph of a
given relation, composition of relation RoS, R*,R® etc., problems
(2) Number of relations on a given set problems, Equivalence classes etc., problems.
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FUNCTIONS

(1) Problems on COMPOSITION OF FEUNCTIONS:

Examples:
(1) Let f,g, and h be functions from Z to Z defined by,

0, if xiseven
f(x)=x-1, g(x)=3x and h(x):{ 1 {;xis i

e Determine (fo(goh))(x) and ((fog)oh)(x). (ii) Verify that fo(goh)=(fog)oh.

(2) Letfand g functions from R to R defined by
f(x)=ax+band b(x) =1—x+x?.If (gof)(x) =3 —9x + 9x2. Determine a and b values.
(3) Let f,g,h be functions from R to R defined by f(x)=x+2,9(x)=x-2 and h(x)=3x. Find gof,
fog, fof, hog and foh.

(1) Problems on No. Functions, one-to-one/ Injective and onto/ Surjective functions:

Examples:
(1) Let A={1,2,3,4}and B = {1, 2, 3, 4, 5, 6} be two sets.
(i) Find how many functions are there from A to B? How many of these are one
to one? How many are onto?

(it) Find how many functions are there from B to A? How many of these are onto?
How many are one to one?

(2) let A={1,2,3,4,5,6,7} and B={w,x,y,z}. Find the number of onto functions from A to B.

(3) The functions:f:R->R and g:R=>R are defined by; f(X)=3x+7 and-g(x)=x(x*-1).
Verify that f (x) is one-to-one but g(x) is not.

(4) Consider the function f:R->R defined by f(x)=x?. Determine whether f is one-to-
one or onto. If f is not onto, find its range. Is finvertible?

(111 Problems on INVERSE OF FUNCTION / INVERTIBLE FUNCTIONS:
Examples:

(1) Let f: R — R be defined by, h(x)Z{

3x =5, if x>0
1-3x, ifx <0

Determine f(0), f(-1), f1(1), 1[5, 5]). F1(3), F1(-3),F1(6), and L6, 5)).
(2) If f: A — B, g: B — C are invertible functions, then prove that g o f: A — C is an
invertible function and (g o ) l=f1, g_l.

(3) Let A=B=R be the set of real numbers, the functions f and g from R to R defined by

1
f(x)=2x3—1and g(y) = {% (y+ 1)} /3. Show that, each of f and g is the inverse of the other.

(4) Consider two functions f(x)=2x+5 and g(x)= % (x — 5). Prove that, g is an inverse of f.

----------------------------------------- =0T [0 CHRN Y, [o T [F] [ ————————————————
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NOTE: For PASSING MARKS, prepare either FUNCTIONS (or)
RELATIONS.
For good marks, prepare both Functions and Relations,(all) .

MODULE-4

(1) Problems on RECURRENCE RELATIONS:
Examples:

(1) Find the recurrence relation and the initial conditions for the sequence
0,2,6,12,20,30,42......... and hence find the general term of the sequence.
(2) Slove the recurrence relation,
(a, +ap_4 —6a,_,=0 for n>2witha, = -1 and a; = 8.
(id)a, = 2(ap—1 — ay—,) for n=>2withay, =1 and a; = 2.
(3) A sequence {C.} is defined recursively by, C, =3C,_; —2C,_, for all n >3 with
C; = 5and(C, = 3 as the initial conditions, show that C,, = —2" + 7.
(4) Solve the recurrence relation
D, = bD,_; —b?D,,_, for n > 3, giventhat D;=b>0 and D,=0.
(5) Solve thefollowing Recurrence Relation
az,, =5a3,, + 4a?=0for n >0, given a, =4 anda, = 13.
(6) The number of virus affected files in a system. is 1000 (to start with) and this increases 250%
every two hours. Use a recurrence relation to ‘determine the number of.virus affected files in the
system after one day. etc.,

(1) Problems on PRINCIPLE OF INCLUSION AND EXCLUSION:

Examples:

(1) How many integers between 1 and 300 (inclusive) which are divisible by (i) at least one of
5, 6, 8(ii) divisible by none of 5, 6, 8? (iii) at least two of 5,6,8. (i) exactly two of 5,6,8 and
(i) divisible by at least two of 5,6,8.

(2) Determine the number of positive integers n such that 1 <n <100 and n is not divisible by
2,3o0r5.

(3) In a survey of 260 students, the following data were obtained. 64 had taken mathematics, 94
had taken CS, 58 had taken EC, 28 had taken both mathematics and EC, 26 had taken both
mathematics and CS, 22 had taken both CS and EC, and 14 had taken all three types of courses.
Determine how many of these students had taken none of the three courses.

(4) In how many ways can the 26 letters of the English alphabet be permuted so that none of
the patterns CAR, DOG,P UN or BYTE occurs?

(5) In how many ways can one arrange the letters in the word CORRESPONDENTS so that
there is no pair of consecutive identical letters? etc.,
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(111) Problems on ROOK POLYNOMIAL:

Examples:

(1) Define Rook Polynomial. Find the ROOK polynomial for 3X3 board using the expansion
formula.
(2) An apple ,a banana, a mango and an orange are to be distributed among 4 boys B1,B2,B3
and B4. The boys B1 and B2 do not wish to have an apple, the boy B3 does not want banana or
mango and B4 refuses orange. In how many ways the distribution can made so that no boy is
displeased.
(3) Five teachers T1,T2,T3,T4T5 are to be made class teachers for five classes
C1,C2 ,C3,C4,C5, one teacher for each class. T1 and T2 do not wish to become the class
teachers for C1 or C2, T3 and T4 for C4 or C5 and T5 for C3 or C4 or C5. (i) Construct Board
for the given constraints. (ii) Find Rook polynomial (iii) In how many ways can the teacher be
assigned work without displeasing any teacher.
(4) Write expansion and product formula. Find the Rook polynomial for 2X2 board using the
expansion formula.

(1V) Problems on DERANGEMENTS:

Examples: (1) Define derangements. Evaluate ds,dg,d,,dg, do.
(2) Find the number of derangements of 1,2,3,4. Also list out all derangements.
(3) How many permutations of 1,2,3,4,5,6,7 are not derangements?

------------------------------------------ End of 4™ MOUIE™ -----=----mt e

NOTE: For PASSING MARKS, prepare Q.No. (I) and (II).
For good marks, prepare (I) to (1V) ,(all) .

MODULE-5

1) DEFINITIONS with example for each:

Graph, Simple Graph, Complement, Isomorphism, Multi-Graph, Complete Graph,
Induced Sub Graph, Regular Graph, Degree, Sub Graph, Path, Cycle, Circuit, Walk, Trail, Spanning
Sub Graph, Tree, Forest, Rooted Tree, Spanning Tree, Binary Tree, Complete Binary Tree, Full
Binary Tree, Prefix Code, Balanced Binary Tree, Order of a Graph [V|, Connected Graph,
Disconnected Graph, Pendant Vertex, Weight of a f A Tree, Optimal Tree Etc.,

1) Problems on TWO GRAPHS G AND H ARE ISOMORPHIC OR NOT:

Examples: (1) Define Isomorphism. Determine whether the following graphs are isomorphic.
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(2) Verify the two graphs are isomorphic or not.

g ¢

111) Problems on OPTIMAL PREFIX CODE: (Symbols with frequencies)
Examples:

(1) Construct an optimal prefix code for the symbols a,b,c,d,e,f,g,h,1,j that occur with
respective frequencies 78,16,30,35,125,31,20,50,80,3.

(2) Construct an optimal prefix code for the symbols a, o, q, u, y, z that occur
with frequencies-20; 28, 4,017,+12, 7 respectively.

V) Problems on OPTIMAL PREFIX CODE: (For.a given message)

Examples:
(1) Obtain the optimal prefix code for the message ROAD IS GOOD. Indicate the code.
(2)Obtain an optimal prefix code for the message LETTER RECEIVED. Indicate the code.
(3) Obtain the prefix code for the message MISSION SUCCESSFUL. Indicate the code.

V) Problems on OPTIMAL TREE (OR) HUFFMAN TREE:
Example: Define optimal tree and construct an optimal tree for a given set of weights
{4,15,25,8,16}. Hence find the weight of the optimal tree.

VI) PROBLEMS ON SORTING ( MERGE SORT):

Example:
(1) Apply the merge sort to the following given list of elements. {-1,0,2,-2,3,6,-3,5,1,4}
(2) Apply the merge sort the following list. Draw the splitting and merging trees for each
application of the procedure. merge sort to the list {6,2,7,3,4,9,5,1,8}

VI1) Problems on DEGREE OF VERTEX and HANDSHAKING THEOREM:

Example:

(1) Determine the order |V| of the graph G=(V,E) in the following cases.
(i) G is regular graph with 15 edges . (ii) G has 10 edges with 2 vertices of degree 4 and all
other of degree3. (iii) G has 20 edges with 4 vertices of degree 3, 2 vertices of degree 4 and

remaining vertices of degree (iv) G is cubic graph with 9 edges.



Page 10 of 10

(2) A tree has four vertices of degree 2, one vertex of degree 3, two vertices of degree 4, and one
vertex of degree 5, how many pendant vertices (degree one ) does it have?
(3) If atree T has four vertices of degree 2, one vertex of degree 3, two vertices of degree 4, and one
vertex of degree 5, find the number of leaves (degree one )in T?

(4) Show that there exist no simple graphs corresponding to the following degree sequences:
i)0,2,2,3,4 i)1,1,2,3 i) 2,3,3,4,5,6 iv)2,2,4,6

VI Problemson CYCLE, CIRCUIT, WALK, PATH, LENGTH OF ACYCLE:

Example: In the graph shown below, determine the following:

i) Walk from b to d that is not a trail. i) b —d trail that is not a path iii) path frombtod
iv) closed walk from b to b that is not a circuit  v) a circuit from b to b that is not a cycle
vi) a cycle from b to b. vii) Cycle from e to e with length 5.

Fy

e d

1X) Problems on PREORDER, POSTORDER AND INORDER TRAVERSAL::

Example: For the tree shown below, list the vertices according to a preorder, inorder and
postorder traversal.

(X) Important THEOREMS:

(1) Show that a tree with n vertices has n-1 edge. [or] Show that, in a tree |E|=|v|-1
[or] Prove that, in a tree, |V|=|E|+1

(2) Prove that in a graph, the number of vertices of odd degree is even.

(3) State and prove Handshaking theorem. [or] Prove that in a graph, the sum of the
degrees of all the vertices is an even number.

------------------------------------------ End of 5™ Module --------=meemm e

NOTE: For PASSING MARKS, prepare Q.No. (I1), (111, (1V), (V1) and (X).
For good marks, prepare (I) to (X) ,(all) .

For any further queries/doubts, please let me know.

*xx*xx*x Good Luck for Your Exams and Do The Best ***x**x*



